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Addition -3
1. Number after 39 =
a) 38 b) 39
c) 40 d) None of these
2.5 more than 25 =
a) 30 b) 20
c) 15 d) None of these

3.5 less than 50 =

a) 40 b) 45
c) 50 d) None of these
4. +37=38
a) 0 b) 1
c) 38 d) None of these
5.10+5+6=
a) 12 b) 21
c) 31 d) None of these
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a) 78 b) 68
c) 73 d) 79

7. Julie has 52 toffee and Reena has 25 toffee. How many toffees they have altogether?

a) 67 b) 57

c) 77 d) 87

8. John has 38 marbles and Bob has 23 marbles. How many marbles do they have altogether?

a) 51 b) 61
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a) 70

c) 90

10.65+35=65+
a) 65

c) 55
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81

80

None of these

45

35



